RAZ—DERIER

F5120cm X #E180cm DR A A—R—FZ A E
WW=LET,

f#100cm x #E170cmIZUNFE D LS(Z2 AL -
iR KBDRHEFTEORRAI—FERLT
T3y,

RRAI—IE BERMIZTZ2ARL-FIR- K4
B 53 (#iE20cm) &N AR 3L - B 3R 15053 (#iE150cm)
(2 1T TYERL TIZ3ELY,

[RC-EFR IR E. [EE]. [FiE].
[#FR]. [BF]. [#EEE]D5DTHERLT
Gt AN

HE.ERRETEIAZXEIORDYIZ
[GEHI). [BRmEE]L [FrRIC. £-[#ER]
DEHYIZCEE-FBB)GEIZEZTER
9 AH_ELRRETT,

120cm

2L
i@
K4

X
X =

150

100cm

180



BAH A A DIHE A3 A ADIHE

AL AL
B FiE
K% K4
1 6 1 5
IRRAI—1GRA A > :
1Y DIHE ZBR< 2 6
3 8
3 7
4 9
4 8
5 10




